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What religion was Jesus?

Christian.
Jewish.
Muslim.
Atheist.

Why did Luther decide to challenge the
Church? (Choose two.)

He did not understand the prayers.

He wanted everyone to access the Bible.

He did not agree with some priests.
He had new stories about Jesus.

What happened when Henry Vil
disagreed with the Church?

He became the Pope.
He started a new religion.
He created the Church of England.

He stayed with his wife.

What is a denomination?

A religion.

A group within a religion.

A group with no religion.

A group with differing ideas.

Why do denominations form? (Choose
all that apply.)

Disagreements about practices.
Different interpretations of the Bible.
Stories about Jesus are debated.

Personal preference about worship.

What do many Christians believe the
Holy Trinity is? (Choose three.)

The Father.
The Holy Spirit.
The Virgin Mary.
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The Son (Jesus).

What do some people believe the Holy
Spirit can help them do? (Choose two.)

Speak in different languages.
Guide and comfort them.

Lead worship like a priest.
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Create songs of praise.

8 Where can Christians worship?

A Ina church.

B Inahall

C Ina meeting house.

D Anywhere they choose.

9 Which of the foIIowi_ng. isa qugrn
adaptation of a Christian tradition?

A Singing hymns.

B  Visiting a church building.

C Taking Holy Communion.

D Using Bible apps.

10

Why doesn’t Christianity always look the
same?

Write the answer in your book or on the back of
this sheet.
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